
BX88399
Single Pull Immobilizer, 3”

Installation Instructions

405-0744 Rev A	 Page 1 of 2	 6/1/22

Please visit www.blueox.com for the latest version of these installation instructions.

Item No. 	 Part No.	 Description	 Qty.
1.................................201-1136............................7/16”-14 x 5-1/2” Hex Head Bolt, Grade 5, ZP.................2
2.................................202-0248............................7/16”-14 Whiz Flange Nut, ZP..........................................2
3.................................202-0249............................7/16”-14 Jam Nut, ZP.......................................................2
4.................................299-0853............................Cross Bar, SP, ZP.............................................................2

1

4

3

2

The BX88399 Single Pull Immobilizer Kit is designed to be used with most 3” receiver hitches. The 
immobilizer eliminates or greatly reduces rattling and movement in the receiver hitch.

Installation Instructions
1.	 Insure the drop receiver or tow bar is pinned into receiver.
2. 	 Place 7/16” bolts through one of the cross bars. Place the rounded side of the cross bar just behind the lip 

of the vehicle receiver tube. Slide second cross bar onto bolts so that the rounded side of the cross bar is 
facing inward as shown below. 

3. 	 Install a 7/16” flange nut onto each bolt and tightened down evenly then torque to 23 ft/lbs. Then using a 
wrench to hold the flange nut stationary, install a 7/16” jam nut onto each bolt and tighten each jam nut 
evenly to 23 ft/lbs.

Tools Required

5/8” Wrench
11/16” Socket

Torque Wrench



BX88399
Single Pull Immobilizer, 3”

Installation Instructions

405-0744 Rev A	 Page 2 of 2	 6/1/22

CUSTOMER SERVICE COMMITMENT

Blue Ox® is committed to providing you with exceptional customer care throughout your lifetime 
with our products. Our team is here to assist you with any questions you may have regarding the 
performance of your product. Simply call (402) 385-3051 and you can speak with our customer care 
team. 

Additionally, please visit our website to see which rallies our Destination America team will be 
attending. For a nominal fee, our service technician will service your towing system to ensure it’s in 
proper working condition. Also, as a commitment to our customers, should you visit our factory, you 
can stay at our full service Blue Ox® campground at no charge along with enjoying a factory tour.

Again, thank you for being our customer and for the confidence you have shown in the performance 
of our products. It is because of customers like you we enjoy the success we have today.

© 2014 Blue Ox 
One Mill Road, Industrial Park

Pender, Nebraska 68047
Phone: (402) 385-3051 

 Fax: (402) 385-3360
www.blueox.com


